) SYE

ol
=

4
K0
W
K
u
S
<
L
=
K
n
E-)
T
o
<<
4




21}

KAP HHEIX] O]ZxH 108 X (BTA) oo,

1.

X% e

Kl
<]

<




1. KAP 2|H2[X] Do|=xf 108 X|+

- KAP ZHZ|X| Oj=x]f 10 & X|x=E+=e= A7 MSst= HEXE &850 O]
=X 109 X F=99 28] =& 7|tied = U= X[+
- YHEX| HE2 0] AFE 7|EFEl+[SOFR 374& F2|'* 1.05 —0IS 374 &
a2|'+0.3%]0|0{ O EH2f 7tX| Halof AEEe o =58
« & Xz 0= 10d K| OfH| HEE0| ixez 2 A 0 Z7|Fe2[ 53 Al
O =2 FAES 7|0g = UAS.
AL
2. X|+= HH
T2 £%3
« KAP ZH2[X| Oj=7x] 109 X|=E+Y
X% T
» KAP Leverage US Treasury 10 Years Bond Index(TR)
ey M3 HAZE X
« DIY ALY 09A|2E 16A] 007K 182 ZHHASZ MA|ZH ZA|
SAIF7 _
- Of FYY 19A] 37X LR
1= 2018 12& 312(100pt)
SMHMES LR | 2024H 48 26
=%t usD
HMEMAHTHZE | T+1 SYY THIHKAP HIHEH7H
X|s= SLHA | US Treasury Bonds
X g |« HY 104 2H7| US Treasury Bond & 7t& %2 Hdlel 5 35
& SYHHH|F
5|2 Al - F7 HE AT A g o AN Y B= HEY
- SEEHYE X932 SEEZEo
CHEX| == HH 2| X| SRRt 7|FE, 2eE)
HXX|E®E H Duration, B YTM
e St RHAHE 7L
KP ot3x108g7} 2



3. X+ M=
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